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[ 1] Determine the basis for subspace S, S consists of all vectors

(%, 0,0,x=y,x+y,2z) in R® and determine the dimension of the

subspace. (209 )

—13 k =
¥ , find the reduced form of A and produce a

9 t A=
(2] Le 4 -2 1

matrix € such that QA=A ., Where A » 18 the reduced form of

A. (20%)

—3x, - 4x, =1
[ 3] Find the solution by Crammer’s rule {-x, +x, -3x,=14 (209 )

X, =3%x, =5

[4] Ifthe probability of producing a defective screw is P=0.01, what is
probability that 100 screws will contain more than 2 defectives.

Using Poisson approximation to find out the solution. (209 )

M

[5] Four coins are tossed. Two of them fall within view of an observer,

who sees that they are both heads. What is the probability, to this

observer, that exactly three of the coins come up heads? (209 )
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